Talmud Navigator

disputants-2°p1 ¢
central point for summary and review-7a1m 219709 nvo» 7P O
insertion of an earlier segment-nu7p 7PE D YW AR <

story-mwynO
key-xapn:

statement-xvor |
challenge-x-wnp ¢
question-7oRw
answer-y17°n !
proof-PX1 m

7nmA mP9R-NMMo2

helagal

AIRT IRD

=]

5

Talmud Navigator
vnTYaTaa

X

PH D 09NN 12 901 2273 1997 ,XNAHON T2 TR0 A°7102 XNDYA 127 RT 111

[27]

12 507 237X GRIAR 77 ,02WAT 12 70 M3 RN MR KDY ,PPID 779197 RNOYT INK R
VAWK R RNADD RN™I27 RNADD1 ,TAK 2NN 201 97 = PRI’ 2122 XM ,RP 2R
X7 RNAN9D XD RNPM27 RNAD R 2X09M3 12 NWmw 127X J9IRWR? = 200 M3 1990

IRN™N2 RN

NTY APRW D"YR NANIAW °107 ,PD0M NI PR KA - 22210 TWT 1A AR0IN 803 11

[P"n] :x°an7

ANpIna 127

A"

NP2 1R MP37 TIWY Wi WY AR 72793 1779 INR 01537 (IR 3w 7 19
WWIM IR T MT°0212 NPTPN NP3 ,MT02n PRWA NN 09197 R¥H) Q%W Y N
27 DR 19 X2 7 Hw 12 Rew

[3"awn]

WX PR PWTN T TOIRT R RT LNTIT 1 DK XOR MR A1RT T 2" MRPT NP2 127
29 R K2 7777 K97 K070 0707 (X097

9 ROVR

71°7 XpD1 RN

NIAR ORI ,PPY T RN R <A77 KT ,RA0TR T 97T (DK X 113 DR IMR DWwn 19 Xphn?
P9 XD = RN NI 7T R9T

PR

T NOAR YW 712 XAW WWIT PR T 0201 72w 0 mnta nptn

2" ,w'n

RV T 17 70 2"R ROR ,NONR DW 32 R9w Wwn KR P ,2anp 500 2RI 0anp o0

YW 712 RAW WWIT PR T NP3 N1 1R DR, NP1 MT°2A0 DX IR 177V 71N 010]
7 9ER 17 K2 T OW 732 RAW R T ¥R D R0

w"n

D17 T RADT WD PROX

ATT RDT RAMM AT XPAW KD © 0707 Dpna

7T R = XYW AR 77T ORTY ~ KD 771 ,XD0T RIMNT KW IR X1 19 191 10pina 737

w"n

L1027 TWOR T 191 RN ,RNPRTI ORI LRAPRTI KT ROVR 270

.02% PTX 71 R 7 (D YWIT) A979R2 ORI ,AMOIT 12 7D T DR IR N0 I X0

2R 1"330

1270 - A7°3K2 MOXRY ,3"2W3 - JNHD 77127 7 WD

9 ¥2n 727 T2 YT T 2007 PTX 711 R TY UKD 13270 0K M

13273 R 2"2wD 7997 OK 779 KOO XN 0

N2 M AWD ORBR " 77D KOO X

79 Rpoon M M

TR PR TTR 270 PN NI 7297 0 NIwHa 2w MY opn 92

T3 7272 7127 Rm
A MR

DXOIMA 12 AW 120 720 OR 17D XPDON 1D ,2R0913 12 1AW 1272 1970 Y XYW oY
.NAMR 41K IR R N7

<

2 DRI IMIR WA 9V PN 790 VYR < VI IPVAYRT TV 090 R

K7 ,777 = RAAM D720 7207 112 RXAN O RIPAR T ,720 JPYAVK ORT 77 RIIVXOR 710
XA RAPT W2 RIRT 73 70 IRDT 120K, 170 JPVAWK KD ~ a0

<

NN 20T MR TNV PIA IR 9202 ORAR W LM 027 MRT WM

SRMX Y2, 13m0 03]
[2mMa

7% ROV RN

1 Tmy

)

12

.1

.1

.1

.1

12

12

12

12

12

12

12

12

12

12

12

12

12

12

12

12

12

12

12

12

12

aeBilplbal



Talmud Navigator

disputants-2°p1 ¢
central point for summary and review-7a1m 219709 nvo» 7P O
insertion of an earlier segment-nu7p 7PE D YW AR <
story-mwynO
key-xapn:

statement-xvor |
challenge-x-wnp ¢
question-7oRw
answer-y17°n !
proof-PX1 m

7nmA mP9R-NMMo2

helagal

AIRT IRD

=]

5

Talmud Navigator
vnTYaTaa

X

13270 RNOY R 32w RN297 X 779 Xov2HR1 711920 xR

btk

A"2WAT RORY - 7279K7 13277 RHRY - 771020 7 Xovmp 02

71 7137 K97 RNDT IR LR 7 AR RDT,APNT T RAATN 03 ,R00TR SINRT 11272 XY 703
Al

IRDT RAPT IR LRD = APRIRDT ,A1NT T XA DT 920 17 X¥AN OR ,3"wR PR 79°IRY
XTI I AR

apn

TIPAN WP KOW 72921 ,IWWA DR WM 12°11 1970 702 DR AW T M2 DR DA

:02Wwna 12 %07

.0 D3P MRT? WWa DR wN 11

0w 12 >0 *270 avn

il

= MOX 200 D1 T R WHIN 1207 2Wwn 0N 12 501 2277 Xavb Ann 012 17D
RYD 137,103 077 WD 02Wwn 12 701 727 120 RADYA :XnDT R TR 12T 3w 0 maT
7M1 1I00M PRY 127 0", PI9NR PR 127 7R MaT T W

SRINT 2 TN w2

9% LWDR ,OIWA 12 701 2273 1997 K OR ORI 270 MW 19T

[A™]):m2 mx

WA 12 707 7273 71997 127 K 37,170 R, MW IR

[27-7x31m 27

N7 210 012 1T 2D MR LRI 277 PP IR

[x297 2]

MR 20 01217

27 MR 01 NNR

127-RP9W N2 TN

2 Tiny

aeBilplbal

ol

ol

ol

ol

ol

ol

ol

ol

=)

=)

=)

=)



